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Erroneous Equations

Find the error in the solution below. When you find the error, explain what the error is and
finish solving the equation correctly. Remember to check your answer.
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1) 3(x—-2)@22(x7) =

3x—6-2x>214 =11
X+20=11
X =-9

Explain the error you found.

When dishibutg the & To (x-17), JOU should
nohce M4t s gcmaly 4 -2 and the 7 1S

aahve Al o fove., -2 (x+(-7)) ¢ actuall
aual o -2x+ 4 and no+ -2y —\4.

Correct Solution: Solve the equation above correctly.
A X-2 -2 ¥-7) =1\
2
3 2)k (-2 *— -2(%) +-2(1) 4
At tp

2R (-2x) + (-L) +\Y
1. +%

R

|
L\
X F 5




Find the error in the solution below. When you find the error, explain what the error is and
finish solving the equation correctly. Remember to check your answer.

2) 3(5-2n)+9n=9
C6ne15+9n =9
15n-15=9
15n =24
n=1.6
Explain the error you found.
A distnbuhng 5-Zn) NIU need 1o nohice
that 2n S “pctvwally  wgahve . so

- S5+(-2 (s acktvall —lzn
In— 19.
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Correct Solution: Solve the equation above correctly.

3( 5-2n) +an £9
(61 (-2)) +an F 4




